o _—

DESCRIPTION

CYLINDRICAL NOZZLE 16MM,145.0041

PART
CODE

DESCRIPTION

MB1502

CONICAL NOZZLE 12MM 145.0075

MBSPC

SPRING CABLE SUPPORT 500.0225

MB1502A

TAPERED NOZZLE 9.5MM 145.0123

MBMCS

MACHINE SIDE/BACK HANDLE 501.2248

MBCT05
MBCTO06
MBCT08
MBCTO07

CONTACT TIP 0.8MM. M6x25 140.0059
CONTACT TIP 0.9MM. M6x25 140.0177
CONTACT TIP 1.0MM. M6x25 140.0253
CONTACT TIP 1.2MM. M6x25 140.0257

MBADN

ADAPTOR NUT 501.0213

MBGPBS

GUN PLUG BODY C/WSPRING PIN 501.0003

NUT M10x1 501.0082

| mB1s04

* NOZZLE SHROUND SPRING 002.0058

MB1503

TIP ADAPTOR 002.0078

MB1501

SWAN NECK 002.0009

HEXAGON NUT M10x1 001.0009

MCLBZ2
MCLBZ4
MCLBZ5

MCLBZT

CONDUIT LINER 0.8-1.0MM. 3.5m
CONDUIT LINER 1.2-1.6MM. 3.5m
CONDUIT LINER 1.2-1.6MM. 4.5m

TEFLON LINER 1.2-1.6MM. 15FT.

NUT 400.0114

PLASTIC NUT 400.0044C

HANDLE 180.0076

SWITCH 185.0031

SWITCH CONNECTOR COLLET

SPRING CABLE SUPPORT 500.0225

CABLE ASSEMBLY,3M

CABLE ASSEMBLY,4M

CABLE ASSEMBLY,5M

EEE T

_

MB153B

MBRLO1
MBRLO8
MBRL09
MBRL12
MBSCB
MBSCB

[}
HE |
Copyright 2003 ; Craft Skill Co.,Ltd. Tel.+66 2 894 1750 (AUTO) Fax.+66 2 894 1788 WWW.Craft-Skill.com

MIG WELDING TORCH 3M.

OTHER

ROLLER 0.8-1.0MM.

ROLLER 0.8-0.8MM.

ROLLER 0.9-0.9MM.

ROLLER 1.2-1.2MM.

STANDARD CONNECTION BLOCK

SPOOL HOLDER




